0.65

0.80

al

= 300.000 kN/m

A = 3.000 m
a = 15
A
0:
cosa
PC KTB
4
us = 120.0
ys = 102.0
us = 0.65 x 120.0 =
ys = 0.80 x 102.0 =
0 S
T a T
931.749 x 1.5
mx 0.135 x 600

KN
KN

_300.000 x 3.000
cos 15
KM5-4
78.000 kN 0 =
- OUT =
81.600 kN 0=
- OUT =
a = 135.0 mm
T = 600 KkN/m’
s = 1.5
5.49 nm

931.749 kN

@ 12.7 mm

931.749 kN

931.749 kN



a2

4

bmin

a

1.0

4.00 m

5.49 m N

1.0

bmin

5.50 m



300.000 KN/m

A= 3.000 m
a = 15
A 300.000 3.000
0 = - a = 031.749 KN
cosa cos 15
PC SEEE F
F170
us = 1680.000 kN
ys = 1428.000 kN
0.65 us = 0.65 x 1680.000 = 1092.000 kN 0 = 931.749 kN
- OK -
0.80 ys = 0.80 x 1428.000 = 1142.400 kN 0 = 931.749 kN
- OK -
a = 135.0 mm
T = 600 KkN/m
s = 1.5
al = 0 S
Tt a T
1.74 1.
= 93 9 x > = 549 nm

m x 0.135 x 600.0



a2

0
T s Tb
931.749
T x 45,9 x 1.0
a 6.46 m

s = 45.9 mm
ock = 18 N/mm’
Tbh= 1.0 N/mm’
6.46 m
- 6.50 m



300.000 KN/m

A= 3.000 m
a = 15
A 300.000 3.000
0 = - a = 031.749 KN
cosa cos 15
E5-12
8x @ 12.7
us = 1464.0 kN
ys = 1248.0 kN
0.65 us = 0.65 x 1464.0 = 951.600 kN 0 = 931.749 kN
- OK -
0.80 ys = 0.80 x 1248.0 = 998.400 kN 0 = 931.749 kN
- OK -
a = 135.0 mm
T = 600 KkN/m
s = 1.5
al = 0 S
T a T

1.74 1.
_ 93 9 x 5 - 549 n

m x 0.135 x 600.0




a2

0
T s Tb
931.749
T x b57.8 x 1.0
a 5.49 cm

57.8 mm
ock = 18 N/mm’
1.0 N/mm?

(7))
1

—~
(o
1

5.13 m

5.50 m



